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TRY GROUP- by -/ G

TIME ALLOWED: 2.45 Hours ~ SUBJECTIVE JPLe Loa45 =

MAXIMUM MARKS: 63 ; 63 = Af
NOTE: - Write same question number .4.614)‘-5.{.“0*[&5 6’0/!2#‘2 J'ﬂ’*{‘éw

and its part number on answer book, as given in the question paper.
SECTION Jio

2. Attempt any five parts. 10=2x5 L fennLinbre S -_zn’dbf'
(i)  Whatis the difference between ~ZULJAL (Products) Ay o (Reactants) o 167 ()
Reactants and Products? '
(i) Write two characteristics of Forward Reaction. : ..g.f_/ﬂ.Jyf»Jf":U/bu‘_ (i)
(i) Write two physical properties of Bases. -g{(fa?&%)&ﬁ (i)
(v) Define pH. Whatis the pH of pure water? ¢ 3 pH B -E£pS pH @)
(v) Give two uses of Sulphuric Acid. S et LIS (V)
(vi) Write any four sources of Organic Compounds. -a{{f'-/zmc—éﬁifib(e@’ﬁ (vi)
(vil) What are Aromatic Compounds? Give an example. _EJell Se sty (Vil)
(viii) What is meant by Condensed formula? Gwe%}ample = M \:(_, e L risiad (Vi)
3. Attempt any six parts. %6

(i) Why the Alkenes are called "Olefins"?
(i) ~Differentiate between Saturated and
Unsaturated Hydrocarbons.
(iii) Give the characteristics of Monos :_';;j_’_; ari
(iv) Give the types of Vitamins.
Describe the uses of Carbohydmes‘

(i)
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. wﬂ (et : &i_.,‘mﬁwl”mff:—éf RS,

HOTH: » Attwrpt any 188 q".f“’om.a 94—3‘:6’4”«1‘\‘%%!69%5/& RE

6(A) How can the direction of a reaction. | '
be predicted by equilibrium m::t“m ; ks S J;;wq,i (<) 4.
.::; Wm";‘r;::'“:z:m::?; i . ‘,-g_,,u,-erz.gJ LS ()
Atall n
Organic Compounds. P JL L5 ()

(B) Describe three uses of Acetylene,
7.(A) State sources and uses of Lipds.
(B) Write effects of Acid Rain.
8.(A) Describe properties of Water.
(B) Describe process of Carbonation
of Ammonical Brine with chemical reactions.
9.(A) Describe the process of Bessemerization. 4 - ¥ s (-9
(B) Write down any three major effects of Global Warming. 3 eIk S BmtE ()

Ly w3y (-7
G fernl g (D
L8y ()-8
3 .,{w;%ﬂfd’&.ﬁbb’&fk‘fﬂ ()

h W B W

Sl SECTION-Il re®
S mrkmmmy two parts. Q;& -é;j;,yg&azi,,‘,‘}{ (Iﬂ{) -10
SO Bl —unsknd L()'g‘éf.'rJJk (COOH)p.2Hp0 24T () (A)

-

uired ',to;.,.qo‘pnnmet/@ ):O»olamy of Oxalic Acid
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) f,yeuy;}szﬂdcoomz.zﬂzo 24 L7 (i)

.......



_ 8SC PART-I (10th CLASS)
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ME ALLOWED: 245 Hows ~ SUBJECTIVE Lo

PN

and ts part number on answer book, as given In the question paper.
SECTION- Jie

2016 (A) — AT

' MAXIMUM MARKS: 63 | ' PR
| NOTE: - Write same question number -4.(,,,,;4,44;,«,@4';’(,,,/,7,31/%‘4;@(44& -

2. Attempt any five parts. 10=2x6 -;,(,Luzﬁ?‘ise—éf 24
() How Dynamic Equilibrium is established? s tnfoASEILES O
(i) Define the Law of Mass Action. - b‘!’/‘!lfr eSHy ()
(i) Why H* ion acts as a Lewis Acid? et LAV TH ()
(iv) Define Normal Salt and give an example. _ZaJeLingE pSE ()
(v) Define pH and give formuta. /S P W)
(vn);‘ Define Homologous Series. EfS v oS (W)
(vii) What is the difference between n-propyl and E Ay e OML Siag AT Siogdt (i)
iso-propyl? Give structures.
(viil) Explain Carboxyl Group. e UK (i
3. Attempt any six parts. 12=2%x6 -é(fawﬁ'z'{éaf -3
(i) Define Unsaturated Hydrocarbons with examplesO’ g,{ivﬁu:’uﬂf P07 }bue’ui (i)
(i) Write down the Molecular and Structural formulas of%»e _LursdfrmAére i)
(i) Give two commercial uses of Enzymes. ‘9/‘ s{{fvw’ '»4‘—5619'5/ 17 (i)
(iv) Whatis the difference between Essential and ‘ (iv)
Non-essential Amino Acids. o\, tiba
(v) Give the characteristics of Polysaccharides. : V)
(vi) How plants synthesize Carbohydrates? (vi)
(vii) How Acid. Rain increases the acidity of s ] R Vs R 4328 (i)

(viii) Define Primary and Secondary Pollutants.
;(lx) Define Ozone and Ozone Layer.



(2) W
SECTIONE 55 g fewnLawrd=li 1

NOTE: - Attempt any three questions: | At é_,/,,y,jv,( £ ’/?4";‘-"{ Woinb () g <&

5(A) Write four Macroscopic prope'rﬁe's of | i
U}JM o7 Jﬂl,f’ﬁ‘f?}t 6

Forward Reaction. ; -J/;ulf’-"’
(B) Explain Arrhenius concept of Acids g
and bases with examples. 5{0&5“ o J/_,’/L'J».;.;{Mﬁ (.6 ‘
6.(A) Describe four general properties of 4 2 e
Organic Compounds. ‘{uk . !gf-e' /‘U # K (o)
(B) Define and classify Hydrocarbons. 3 - rb&' l,a_é )Zuéu'ﬁ’}l-'/ ¢ (.7
7.(A) State any four uses of Carbohydrates. -s‘:di‘_"”‘ ’: o e
(B) Whatis Ozone? 3 -g‘{{f-‘v'f‘é“-""éd i :

Write the effects of Ozone depletion. > . ?
| . ot dL (N8
8.(A) Describe four properties of Water. = ERE o

4
(B) Write a note on Bessemerization. 3 -u-‘d LIy S prasass ()
9.(A) Explain Electrical Refining of Copper. 4 -é&u;;{.ﬁa:ﬂ/g ’J{ ¥ (-9
(B) Describe the composition of Atmosphere. 3 -g}.' uw*-’;;;(J i ¥ (o)

SECTIOQQI‘ (2
10. NOTE: - Attempt any two parts. Vb/&é_’{ i_..,!_m‘f_.z,”“.__‘]j e /l)’:‘f {) _10
' G rd BB S AT IE L s () (A)
/en Hydfochloric Acid solution.

co.ou%ﬂzo 4GS 2 iy
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JMBER: 7484 SSC PARTAI (10th CLASS)
CHEW GROUP.I o g
[ {IME ALLOWED: 15 Minutes OBJECTIVE (% Sete =
MAXIMUM MARKS: 12 e Y

fe o L f»‘&fmwawc,ww‘—.au.;»z{.,e_uzqurqw FLL DA CB A MBI
A .f;b&dféftﬂwnﬂ_ﬁi Bubbles

. e 2fs LS Sl S\ LS i L S
Note: You have four choicos for each objective type question as A, B, CandD. -/ Frebirisidr

The choice which you think is correct, fill that circle in front of that question rumber. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others Slank. No credit will be awarded
In case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A

{1) A disease that cause bone and teeth damage is - e 2SLr LU A uts (D)
(A) Fluoresis y7f  (8) Hepatitis ./‘%5,- (C) Cholera (D) Jaundice ¢lGs

(2) ___ salt makes the water permanently hard -9#&54.:4\4/1‘!:.#» PRI (2)
(A) NagCO,4 (B) NaHCO, (C) Ca (HCO3); (D) CaS0,

(3) __ organic compound is found in Gasoline. et AR LS LST @)
(A) CoHy (B} CaHg (C) CgHyg {D) Cq2H2g

(4) A reverse reaction is one'- Q cenwliin @

(A) Which proceeds from left toright  <-tnd =,.,,-x_..,%c1z
(B) In which reactants react fo form products ‘gauﬁ,{@;{ O TN
(C) Which siows down gradually ¢-bx24TGuzz (D) Which$pegds up gradually -tz Eusin

(5) ____ reaction is irreversible. ‘A)Nz“wg-r-—r’ &
Oy sy 2 Oy + O > 2O O

(6) ___isnot an Acid, " i ;{me 2, /O o
() 50) (B) NHg ;

) Dlmaddsreadwith(:arbonalesmm % &

‘except . (A)Sah & (8)
(®) In ‘lhbomlory Urea was prepared by the &
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OBJECTIVE (%0 w15 =
MAXIMUM MARKS: 12 12= AF
He A IANIIL i s il

{-)&.VLJV,“QD’Q& M&{_: DACBA eWt&f-J'm B
V| Kbl R irSi Sif Bubbios G i RS S Sk | LSt ti s

[Note: You have four cholces for each objective type question as A, B, CandD. -l relirgsidy

The cholee which you think is corract, fill that circle in front of that question number. Use marker or pen

to fill the circlos. Cutting or filling two or more circles wili resuit in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

In case BUBBLES are not fillad. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

- A

(1) s a Saturated Hydro Carbon depubiaug . (1)
(A} CaHy (B) CaHg (C) CaHg (D) CsHyz

(2) ____is tasteless. S 1 RS ¢
(A) Starch &6 (8) Glucose #¥ (C) Fructose 3#7 (D) Sucrose i/~

(3) Deficiency of Vitamin ___ cause the disease of Night blindness. - dnSedU/¥aerte»ddl ot )
Ay A ®) E ©c ©) D

(4) Normally rain water is weakly acidic because of ___ gds)) cetefidfend St @)

(A) S04 (8)CO; * (©) (O) NO,

(5) ___gas is used to destroy hamful bacteria in water. {,.ﬁ! s LS oosirtYy 6
(AYChionne o£.¥  (8)lodine ofi¢T (C) Fluorine (é (D) Bromine 21z

(6) ___ disease causes livar inflammation. O wdrtinbel . ®

(A)Jaundice Gy  (B) Dengue (i (©) Cholera x: () Hepatitis vy
(7) Crude oil is heated in the Furnace upto:- 7 L oSS @)
(A) 300°C (8) 350°C (C)400°C (

(8) In the Lime Kiln, the following reaction goes o co 1 bec JEFNGdeardies ©
(A) Of high temperature. £/t

* (€) €O, escapes continuously &

(9) When the magnitude of Kc is very larg

(A) Reaction mixture consist of

"pLiE Ca0 =x\i Cacoy



